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Note: The question paper is in three sections. The candidate has to answer 5
questions each from section | and section Il. Each question from Sections | & Il
carries 10 marks. Also, the candidate has to compulsorily answer all the 4
questions from section Il and each question carries 12.5 marks.

The question paper is set in English and translated /nto Telugu. The English version
Is considered as the authentic version for valuation purpose.

Enough space is available in the answer sheet for writing all answers. There is no
provision for additional answer sheets.

RrIOeD. 0F) DG QWP PFAIRVT &) D. @an grrid | dvocd 5 obaty grtdw Il
Aoc 5 S0 S Qo 10 H¥) 0 DAFET FaLrd. eridwen | & Il D 08 0¥ 10
Q) ev Golraw. A St e0zg, g Il &S0 4 £8) 0D SN0 DadTEereD gratrd)
&I 11l €D S H¥) &0 12.5 Sl ev &oerow.

OF) OGS esoff S’ Satrh Saverd, Sevrd RS S SaLaE DA DETED
DGV B0 SANVSDED, esocf eKeSD £¥) dgSw AT EB0MT A0S eI
DB DeSades’ @,002 2T°0eY  FPaIVAD A b‘;)e)aiv SO OBV DTS Dghadw
WDy ,@*’gcgo ge.

Section — |
2t |

1(@) A, Band C enter into a partnership business with investments in the ratio ;:

W
uil A

After four months A increases his share by 50% while B withdraws Blrd of  his
share. If the year end profit is Rs. 4,09,000, then find the share of C in the profit ?
OR
(b) A person Psells an item at Rs.100 less than its marked price and receives 10% of
his selling price as his commission. Another person Q sells the same item  at
Rs. 200 less than the marked price and receives 20% of his  selling price as his
commission. If they get the same commission, then find the list price of the  item.
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1 () ;: % : g D& LoV OF'A, B, C e 28 arid(d) Soroedy oY &
PO DOV BATS A B T 50% Do, B 35 THrS” Sr&dody SO O
RodBTot erzio 6. 4,09,000 w0 ergioss’ C S dodh ?

o
(D) 28 S8 P a8 D DO PEBS dop 6100 &) o) e wS)se (6P 10%
3 EHRRVT Fochomred. o8 O58 Q od Hp DRSS Dop 6. 200 &) o)
VAT Ve 6D 20% &S SN Totoseed. QPS> 28 Ddgo

S0V ToOS &8 XY HREBS Do ) 08 ?

2 (a) Two persons A and B agree to finish a piece of work in 5 days for Rs.28,800.
But A alone can complete the work in 10 days while, B alone can do itin 12 days.
By taking help from another person C they finished the job on time. What is
the share of C in the amount of Rs 28,800?
OR
(b) For how many integers of x does a triangle with side lengths 10, 24 and x have all of its
angles acute ?

2 () agto e A, B e DAV 628,800 0 5 T, 3370 S0 2020y H0tr.
Y A & @ DI 10 F2g iy B g d ¢ 0D 12 B s> 2rg
SADAVE. WSS T 38 C DL 0D e DA ALPHS™ PG SO
28,800 draraees® C oot dodd ?

Jgoe
(D) zoero FaHen 10, 24 H00050 X TP (o Jg0eres’d ©d) Seren op Srren
eso?i:se.g TA) T OS X e SO ?

3 (a) Six distinct integers are picked at random from {1, 2, 3,..,10}. What is the
probability that, among these selected, the second smallest is 3 ?
OR
(b) A box contains 11 balls numbered 1, 2, 3, ..., 11. If six balls are drawn simultaneously

at random, what is the probability that the sum of the numbers on the balls

drawn is odd ?
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3@) {1, 2, 3,..,10} S0 o:ircsy‘DQSom e8> JHD) LQYr o5°e ‘Dséolg’:)a. Qer
R0) Sl d o8’ 5ol WADD) Doy 3 TIPS Voerdyeh Jod ?

Soe

D) 28 2§ 1, 2 3,..,11 Jopgod (DGod wEd @ eodowdn $9A &od. e
20V AP ySorT 2,870 BDDDED &8 L0B0L D &) Vo[ ddo  ED Doy
SPAES V0TS dod ?

4 (a) The population of a country in the year 2000 was estimated as 641 million and in
2010 the estimate was 705 million. Assume that the population grows linearly
with the time. Then
) What would be the estimate of population by 2020 ?

(i)  What was the population estimate in 1990 ?
OR
(b) The population of a country was estimated to be 1.22 million in the year 1989 and to be
growing at the rate 3.4% annually. Then
0] If t =0 denotes 1989, find formula for the population at time .
(i)  When will the population gets doubled ?

4 (D) w8 S%0 a7z 2000 DodIGosS® 641  odabay m 2010 DodBGeS® 705
DOADHD T wodST JoHEDG. ¢ B aTpr Swod Do Fdabor
DEAB0SE L. LYY

(i) 2020 &° 372 Woda® Jdoch ?
(i) 1990 &° e oS doch Goid ?

So
(D) 1989 DodS\GoeS® 28 B% arer 1:22 BAHEY M wod< Dot s, O
2 3.4% SPyd DSt e LA S5NEL

() 1989 2odNTody w0 t = 0 & DAY, & &% T 1S YAoaworr
oco0G.
(i) Do 8% aJ7er 8 0DHBE
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5 (a) In a certain population the ratio of number of women to the number of menis 11:10.
If the average age of the women is 34 years and the average age of the men is
32 years, then find the average age of the population ?
OR

(b) When a student P walks to school, he averages 90 steps per minute, each of his
steps being 75cm long. It takes him 16 minutes to get to school. Another student
@ going to the same school by the same route, averages 100 steps per minutes,
but his steps are only 60cm long. How long it take Q to get to school ?

5Q) a8 aTrd Q, OO Dope Apd 11:10 do D dabioy 34
RVODS\TD, DAV DL HABRVY 32 RODSNT°LD WAV, &8 BT Ve
SOy & 0l ?

Sor
@) 8 Doy P dodootrr dd DY) oS w8 §) edxd 75 .. FeHS
20100 AAIS 90 eachoren B ¢ @er d S S6crdd @w3d8 16  ddodren
DEB08. 08 JHrgoss® ©d i § DTy g0 O 88, e 60 d..

PEHE 50D IS 100 ecidrhen DA®  HDEXRW ot  Q &8 S6erId Jodh
D00 HDEDRS ?

Section — |l
2°tied Il

6 (a) The following Pie diagram shows the monthly expenditure of a family towards heads:
Food (F), Education (E), House Rent (R), Savings (S) and Others (M).

Answer the following questions, using the above diagram.
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0] What percent of the monthly income is spent on Education ?
(i)  Which two heads consume 40% of the income ?

(i) Which two heads consume 45% of the income ?

(iv)  What percent of the monthly income is kept for Savings ?
(v)  What percent of monthly income is spent on Food ?

OR

(b) The production (in lakhs of units) of three types of products A, B and C during
the years 2011 through 2015 by a company is tabulated below. Assume that the
costs of producing one unit of each of the products A, B and C are respectively Rs.3, 5

and 4.
2011 2012 2013 2014 2015
A 50 35 60 50 70
B 45 50 45 55 80
C 35 60 55 60 50

Using the above table answer the following questions.
(i) During the five years, on which product the maximum amount was spent ?
(i) What was the total production cost of the product B during the last three years ?

(i) How much amount was spent on production of A and B during the years 2011
and 2012 ?
(iv) What percent of total units produced constitute the units A produced ?

(v) What parent of the total cost of production was spent on production of B in all
the five years put together ?
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6 (D) esirso (F), Dess (E), @0 08 (R), Tz (S) 0dasn addaswen (M)
2,8 580080 GV, VDO PEYEL §06 "D Do BFLYBVB.

D LD
Q Qo

D ) &DATA0D) Sod VI VL BTENVBDY

() QN0 Lo Jodd Fodo DEPD PO WHBON) B ?

(i) D B0t DK © S0 VWO WTPOESAOY PENHBDY B ?

(i) D Bocd D © §ots JVNO BEPAoEU5% PENHSod ?

(V) e et Fe) Teho Jdoeh ?

(V) QR0 emrakoess’ 8rrahes” eitop PO DEBID) BSoth Foeho?

Soe

(D) 2011 200& 2015 DoTI\Te, 28 Sod Jr O50 Gdydy e, B, C (vdo
CPIRES’) VRO G SoDEIS DoL0GDD DIT D Fo8 D E&S° TFocoDCS L35>

A B, C o0 2.8) oS &dyB Sady 96y SERM &». 3, 5, 4 08l
2011 2012 2013 2014 2015
A 50 35 60 50 70
B 45 50 45 55 80
C 35 60 55 60 50

D D& & 0DAAo) $08 HF) VLD TLPVIBY

0

000 DEO VDBV, D B0 &Y D (0RO Y WOV
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(i) D0 BurEd DodINT, B & &3D SIS ey @D

200 doch?

(i) 2011 206050 2012 DodSHNTE, A, B OdD 618 SoaedS edy DY

VS0 ?

(V) Do &S 5D oNPIWES’ Jod Foho A PP &\ S5O ?

V) D60 P0DS\TS Ao &ND DS’ doth ThoB D DM
A > Ab A\ & O\

Car Production in India

90008 ?

INDIA CAR PRODUCTION
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Quarterly car production in India during August 2015 to July 2016 is shown in the

above bar graph. Using this, answer the following questions.

0] During which month and year was the production lowest ?

(i) During which months and years the production levels are equal ?

(i) By what approximate percent the production increased in March 2016 over

February 2016 ?

(iv)  What is the approximate percentage growth rate in the production in July 2016

compared to June 2016 ?

(v)  Over which period production growth rate was on the increase ?

OR
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7(b) Annual GDP Growth Rate

INDIA GDP ANNUAL GROWTH RATE

8.5

1.5

6.5

&
Jul 2013 Jan 2014 Jul 2014 Jan 2015 Jul 2015 Jan 2016 Jul2016

India's GDP growth annual rate for the years July 2013 through July 2016 is
shown in the above graph. Using this graph answer the following questions:

0] During which period the country has witnessed the lowest GDP annual
growth rate ?

(i)  Over these four years which period recorded highest GDP growth rate ?

(i) During which periods did the GDP crossed 7.5 ?

(iv)  Which period witnessed sharp downfall in GDP annual growth rate ?

(v)  During which periods the GDP was below 7 ?
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wrisy 2015 Mool &g 2016 SO POSBHS TG GByAE  Dowodod BIPDE
DdTren P erd Do  SrHdds. Ay  &DAFND  Fod  PH)OD
DIrEOB !

() D0 00050 VBBV’ S°Y &S\ LYo &od ?

(i) D dvew HOCID VOBBNTY, &Sy DIV ol

(i) Ded6 2016 & FPOY0DE H°0y 2016 &° DOAD D T BIJTET
odh ?

(V) &S 2016 & PO\, &P 2016 & &3S DANDEL TS QIJTEMT
oeh ?

(V) 90 HHOS’ &S DADEL G DEMDBP SoddHA?

Soe

®) TQE A P SBrINIS” 50 e

INDIA GDP ANNUAL GROWTH RATE

8.5
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g 2013 0o &g 2016 DO 268 B3 GDP 3288 9,0 Sewdd P Sg» Do’
BrDLEIR. & T TP 6D §od HI) VLD VITGEHo TG !

() D R20aS® B0 wdjod Sy GDP 98 &0 e HIPEO BDoE?
(i) & eorivh BHHOS° D DAAHS® wsidS GDP 3B, TeR0 DO BDeE?
(i) D D0’ GDP 7.5 &0 o8 oxod ?

(V) D DdB0cWeS” GDP 08 )8, Gt Stforr DBIR0E?

(V) 9 D00%0e’ 7 82) e S GDP & aresoged ?

9
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8 (a) Each of the following sequences follows a definite pattern. Fill in the blanks to
complete the sequence without breaking the pattern.

(I) N1961 KlZla H064—a
(i L P , B, H
(i) If axb=2(a+b) and a®b=a’b+ab?® then

2®B®S5)=
(v) BY, EV, HS, KP,

(v) 3, 10, 21, 36, 55,
OR

d O In a certain code APPLE is coded as ZKKOV. Then what is the code

word for CODE in the same code ?

(i)  If BUTTER is coded as 123345, then what is the code word for TUBE ?

(i) If, in a code, AXIS is coded as 02250920 then what is the code word for
AGENT ?

(iv)  If, in a code, WLSFD is the code word for ALERT, then which word is
coded as LOJTSE ?

(v)  In a certain code, TEACHER is coded as GVZXSVI. In the same code,
what is the code word for STUDENT ?

8 (Q) 806 oA LB 83 208 POVBPD EHFY)  FBXY 08 e E3rd8  Horfo
gortorr PO POl

@ Nige, K121, Hoes,
G L P ___, B H
(i) Ifaxb=(a+b) and a® b= a’b+ab? eond
20B®5)=___
(v) BY, EV, HS, KP,
(v) 3, 10, 21, 36, 55,
10
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Soe

@) () 28 D D0e@0S” APPLE &0 ZKKOV 1 grd8. e 98 08270’

CODE c3wg), & 0cso 98 ?

(i) BUTTER & 123345 > §& 3%, TUBE & §& 96 ?

(i) 28 && &°, AXIS &0 02250920 r §& S5, AGENT & £& H¢so 28 ?

(iv) 28 8& S, WLSFD 938 ALERT & £& evond, O Heso LOITSE
£& SavedHd ?

(V) a8 8& S’ TEACHER &0 GVZXSVI e §& Sabherdod. of £& &°
STUDENT £ && ¢S50 96 ?

9 (a) Each of the following sequences follow a definite pattern. Fill in the blanks  without
breaking the sequence.

(D (=Dxe(1), (2)x3(10), (5)x6(1p),
(i) 2(4)8, 4(2v10)10, , 6(3V8)12,
(iii)

vy X V.S O J

v) Vos, Ugg, Sog, _, My, Hy.

11
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o O In a certain code WHALE is coded as 2308011205. In the same code

language what is the code word HIPPO ?

(i)  If CORNER is coded as HTWSJW then what is the code word for
LINES ?

(i) If the RAM is coded as I1ZN then which word is coded as GLOO ?

(iv)  If LIGHT is coded as 34567 then which word is coded as 74567 ?

(v)  If the words VAST, COST are coded as TO119V, T1519C respectively
then which word is coded as E1518M ?

9 (Q) S06 DaHdd RA 363 a::‘l)‘)é@é g7 FBRD 0O e IS Poflo Lrigdor®
2PN RFO00E.
() (=Dxe(1), (2)x3(10), (5)x¢(1p),

(i) 2(4)8, 4(2v10)10, , 6(3V8)12,
(iii)

vy, X V, S 0O J
v) Vos, Ugg, Sog, _, My, Hy.

Sor
@) () w&8&S® WHALE & 2308011205 e & 326, eod €& &° HIPPO
g, E& Do D6 ?
(i) CORNER & HTWSIW e §& 3%, LINES £ §& ¢S50 96 ?
(i) RAM e H¢S0 IZN 7 & 3%,  Deso GLOO e §& BSoocidood ?
(iv) LIGHT &0 34567 e £& 3%, 9 960 74567 e £& Sohdt &5 ?

12
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(V)  VAST, COST Howen Sdodme TO119V, T1519C e & 3%, Q H¢so
E1518M > £& SoH&008 ?

10 (a) A survey conducted, on 100 students in a college on their playing habits,
revealed the following information:
41 students play Cricket (C),

35 play Football (F),

24 play Hockey (H),

10 play both Cand F,

8 play both Fand H,

9 play both Hand C

and 18 play exactly any two of the three games.
) How many students play all the three games ?

(i) How many play more of these games ?
OR

(b) Readership survey conducted on 1000 persons with regard to English dailies /, D
and T is given below:
515 persons read /,

345 read D,

310 read T,

55 read /and D
50 read Dand T
70 read Tand /

and 10 read all the three, Can you find any fault with the survey ? If so, why ?

13
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10 () @& svwzro & 100 0060 DE§H O P T8 etwh Horodod) DI P

20D 28 VO’ §od DVOIPLD DYEOITIO:

41 20080 Jgrgdoen 8388 (0) esas.

35 008 D eSS (F) es@ess.

24 2008 8 (H) sacs®w

10 2008 C 00050 F BoGoBdD &G

8 008 F 00030 H 8odoBd es@cscd

9 008 H 00030 C 80doBD es@csed
B000500 BurGo3S” PAyBore DD SoCo3D es@aed 18.
()  S0rEoBd e@TeE Dot ?
() 9 D e8¢ T°Bosd ?

Soe

(D) es0ff OSDBED /, D, TR JoBa00d DELRDBOT®) 6R) FOreTevt NS
1000 06 2025 DTS’ D050 §oBAOLIE T !
515 2008 | &0 ST,
345 #2008 D &0 SBNHT°D,
310 2008 T &0 ST,
55 o0& / DB D & T8EDPT,
50 0d D 60 T O BHE1dHT,
70 o0& T 60D 1 O EDHTW,
00030 10 008 S0TE 083D t5¢E30:9)EED.

& 8] AEPOT ST ©INoDoT ? WP BONIS JodL ?

14
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Section — Il
ey Il

Read each of the four passages given below and answer all the five questions at the end of
each passage.

€00 4 PGBV BAD, P PSCEBD VDG ASEED DB VI VD SDNIVOMT 2T°e
SPADOG.

11. Food Security in India

India is one among the few countries in the world having Government held stocks of
food grains for meeting the requirements of natural calamities, ensuring price stabilization in
case of crop failures and for providing food grains under Public Distribution System (PDS).
Since Independence India has travelled a long way towards the crucial aspect of food security
from being an importer of food grains to one of being self-sufficient in its requirement of food
grains. While its food grains stock position though looks satisfactory with sufficient buffer stock,
the paradoxical situation is that according to the Global Hunger Index 2015, India ranks 80"
position in a group of 117 developing countries. This apart India’s hunger index score for2015
was 29.0 and the proportion of undernourished in its population was 15.2% (i.e. one in every 7
person during 2010-14) which indicate the gravity of a serious situation with which India is
found to be sailing. Therefore, food security in India has to be seen in a broader context
covering the various aspects like hunger, malnutrition, absolute poverty, addressing
inefficiencies in the delivery channel, proper identification of beneficiaries so as to improve the
overall living standards of the people and thereby getting rid of absolute poverty from the
country. Thus, food security in short implies “Access of food grains by all people at all times to
sufficient quantities of food to lead an active and healthy life”.

Questions:

Explain the food based safety nets to tackle the food security problems in India.
Write a note on National Food Security Act 2013.

Mention the flaws in PDS of India and suggest suitable remedial measures.
Discuss the areas of food security concerns India is likely to face in future.

oA w N

Food Security as had been well said should be “Never give a poor person a fish to eat
but rather teach him how to fish”.- Comment

15
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11. a0 B805° e836 23

08D DDOSEBVVVOE, DotV DO DoEBRHE 36’ R, 680 QUDTTAS oakn P
Doded BIBY TT° WG TV WoBBErIS, e IR JUGORD &od 003308’ EQ
BSOS’ g6 B0 288 J(Pogo ©DoDD Y Wod SVEPD BT BES WoBosS, WIFS
TG B SED Pow oG B3 WIVT BF DT Do VBRG G0
DED0S” PG Bgo WAY LOIPRO FNoDod. 28 V) BOHDod 0inG (cgrrd)s) Ddex &,
PG PR QUG B VodyD, S6ormed) DYBS, B'S P& V3G Loryd (wsd) vrds, 2015
25080 117 658 Bomdod) BT DAFT0eS’ eS80 P oS’ &) DLGOD DO,
OED &od. 208D =8, Logye (wsd) ards, 2015 S or6d S 29 Hoakn B
20ereS’ 15.2% (b 2010-14 &° 08 7608’ 2.80) UFETD & &Y. 0 F6d 3K
AR D) DDo S°AZ Y DO B AVHYAHSW APV 0d RWBS e8d, T &DOW,
©D OGO, oD HEGIVS® BRJGBR BREDBEDL, VOHD VPEWL JodE Hotl
0TV csj%e? DY §D oo Mg, BSOS YITEFOD DD DESEIS S8 DY
>oEr D) B0 ol FOBOTIS, TEH BEY W FESD TV $HE\GeS wreed.
©0CBVD, L DO eiFS RS ol ‘SoIrIVPS SBo%D THEERD BdHV0 JNodeS,

D208, B VICIFOS” BNVt HOXTEIS’ VOLEPENES” Gotttad”.
03)en:

1. aP0S B%08° 556 FEB DIVDVO WOHEIOLL VBVEDD WG HESH HOOLBY
(800) DHBocsol?

2. 20D WiFS PGS 3o, 2013 P Dddes Fraed?

3. 00 B8 L@ Hoded JBR (D & ) S’ S*Hadwed oA TBI TRttt
S SEFO Sedol?

4. I S OB ETIS &6 FES DREH0S” BoBUVS 8B (10F EBiwe (100D
éb‘)odoé.?

5. ST OIS Do &6 HES D DB GotrLot] ‘28 DATPIE AIEIE BSH
‘953‘) 2acoe e9hdE BSHew DD 56.)5’ — Segrdotiol?
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12. Sustainable Development

The need of the hour is not just development, but eco-friendly development, that is,
development endowed without the destruction of environment and over exploitation of its
bountiful gifts bestowed to mankind. The 11" Five Year Plan has emphasized and advocated a
development process that is environmentally sustainable. Since our natural resources such as
water, land, and minerals are limited, their per Capita availability is actually diminishing
because of rising population and also because of irrational exploitation of these resources.
Therefore, a strategy that could not only preserve and maintain natural resources but also
provide for an equitable access to those who do not have access to them was adopted with a
firm belief that until and unless environment protection is brought to the centre stage of our
policy formulation the desired result could not be achieved. Otherwise it was felt that what is
perceived to be development may actually lead to deterioration in the very quality of life.

Questions:

[EEN

What do you understand by Sustainable Development? Explain its importance.
Examine the causes and consequences of environmental degradation.

Describe the methods that promote conservation and maintaining of natural resources
for common good.

Discuss the Government policy towards protection of environment.

5. Environment protection is a luxury for developing economies — Discuss.

12. R0 6 DB
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SotS, DR ©D BIIS PIRY T°) DG VDS BdD eagd & 308 D o0 SR oD
23°Dotdcia 26H08.

Q3)en:
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2. o068 DTS (VEEEETEIS) SEEPORD SO DE[HBITVR HODotsodt?
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DEBOZ DdBoSod?

4. DTG0 HOBEE DROH0S” HEOB DEPP) B0y oS0d?
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13. Gender Discrimination

Gender discrimination is a universal phenomenon and it is attributed to several
factors like economic, social, political and cultural taboos. Though the policy-framers,
Government, civil society , social reformers, NGOs and feminist organizations are no doubt
putting enormous effort to minimize gender discrimination but still it is continuing to be
prevalent in both the developed and developing countries. However, the magnitude and
degree of such gender discrimination keep varying from country to country. The gender
discrimination in the Indian context is quite noticeable by virtue of the declining trend in female
sex ratio, literacy level, employment avenues, income inequalities, wage differentials and
property rights, etc. This is one of the biggest challenges facing India and unless it is
addressed on war-footing basis it will have a cascading negative impact on the very growth and
development path being pursued by India since it has been proved universally beyond doubt
that women are equal partners in the development process of any nation.

Questions:

1. Explain the causes for the declining female sex-ratio in India and suggest suitable
remedial measures.

2. Comment on the issue of “Missing women”.

3. Is section 498A of IPC really a panacea for redressing women's problems against

domestic violence? Discuss.
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4. Do you think empowerment of women can minimize gender discrimination? Substantiate
your answer.
5. Examine the policies initiated by the Government for upliftment of women.

13. Dot Dadgd
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14. Health Care System

The general health care standard in India is quite low compared to many other countries
around the globe. The basic cause for the poor health status of the large chunk of its population
in India is its wide spread poverty. The Government of India has focused its attention on this
vital aspect from time to time and had come out with various programmes and policies aimed

at achieving an acceptable standard of good health amongst the general population of the
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country. To name a few ,The National Health Policy 2002, The Common Minimum Programme,
National Health Mission, Pradhan Mantri Swasthya Surksha Yojana (PMSSY), Swachh
Bharat Mission, Pulse Polio Programme, National Aids Programme etc. Yet, there is no
denying of the fact that the progress in improving health outcomes in the overall quality of
health care being extended to its vast population over the years is apparent though at a
slow pace. But its wide inter - state, male-female and rural- urban disparities in outcomes and
impact still continue to persist. Therefore, as a result India continues to face an extraordinarily
high disease burden which saps the productivity of not only the present Indian working
population and their contribution to its economic growth and development but also can have
a cascading effect on the future generation as well.

Questions:

1. Affordability of health care is a serious problem for the vast majority of Indian population-
What measures according to you should be taken to redress this problem?

2. Comment on Swachh Bharat Mission and mention the initiatives taken by Government in
the implementation of the programme.

3. Suggest suitable measures to strengthen the governance of health care system in India.

4. Do you suggest levy of user fee in the Andhra Pradesh Public Health Sector as is being
levied in other states of India? - Justify.

5. Do you concur with the opinion expressed in ‘Lancet’ study 2015, that poor coordination
between the central and state Governments as one of the main constraints as to why

universal healthcare is not assured in India? Justify your answer.
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